__Math Hl Eal_

_ Wor Yeheet #11 Answer kﬂ\/_

o Jiwe S-x_

X795 Jad =3

Lm +3 \ i Gox) (g 43)

‘.51 o

iy +3 X395 _@ﬁtn

%15 M

X725

=L — ) ({xxd_13) - mw(\mm —(3+5.')J;él._

- =

b L Ak tx-2

| w-{\bfc \tj[.X)iﬁi._

XL Y@LXﬂJ} ~X 42

_.-_,Lw\ (_K 5)*‘:)( ;

X7 f’xH 5‘12 X+l

T X9z X Ux+ Y =x12

= Qv X ax-0 70

Qi (X+3\(K//T)_E-‘**’ g f_-g\

X X922 X2 Sx 46 X=2 @ ) (X {_) -
o lin X g I 7)&70/ "
- WP Xk 4l xal (x-0 O/ T
[ RML: B XT="" oo \ |
] XN+ ol O \> DNE b ghL+U L
T S P T " o
X217 x-| ol




( D/o . xS

o l()‘ ‘Q)(m _I__ESZ'-LlX"S_. \,S ,;x\___g-\b -X \F 5-X20 LHL
%55~ 5ox] | Hs)if Sxa 05 0
DNE \| QW LAFLHL

QUL Do XTXD ol ESITN _ g (xAJ D
x35+ 15-X] ><-95+ (50 X5 s |

= G

LUL Qi X UX=5 - o (X-5) (x50 Mmu

*157 \5-x) 5% X5 5-x K (=)

- N . B - = -b
B P ORIy
XA - B
£ :
p &\(a‘lrc\z\wmr\i

Need \E)-LY=\s-ax-1)|= [b-2x]= | -20x-3) |= g[x-3| ¢ £

=) claonse . 1X-3] <€y
77,

P\M)P let €70 \pt O\\ve\n-

G)\vevx‘x Sw::k that O \Xx- 3\ LS. %cm

1) - L\;\ S-2x- (D)= |l -2x] :\—Z(X-}ﬂ

= -2 Tx-3 = X-3[ 228, =€
Ll




™
@ |2 Q-Gx-}‘ > X .
_X+7. S _
—_ 3-(xrl) — 5~ oTX
) o £ 00 L T -F0 g b7 537
W-0 \/\ Wp
{amnwon

= Qv (1 \ Bx G- O] i

ho \ ) (el 7Y (xx7) | _i

3R x\Zu 2% h — (34);1,@ #}‘nglﬁj_dmwg !

T pawan) aT) alge bra.

L |—'"_"'_'__'l,‘_ i

= B /\\,_;h_\_oy - i, —10 \\ 0 |

0 LM f)HHﬂ(X—t?) w0 ks T)x+7) Ve 7)? \
. . =
@ - - |
H-G. Qu}j\rfmi Qm\f i o = e e ]
L Vs .
D)= N EN =X 0) = %7 ~3%)/: —[0
N (x+7)> P Tl (x+7)" \
5 : o > g |
L!. M:}{}: § Lpagrithmic D\@fm&n‘]\aﬁxm
J /"'“*\'f - :
Aay :p-Q.u\(\Xx) Lo Sides =
TQ}\\_;F'[;YQMJ( A‘mﬁ‘y'fll&* A
o I " Cj& < - / ici ' e bt sieles |
a2 3% *QL}J:“&Y X‘QM}(_‘
| b du =%\t Lax (1)
[‘ E’)"jy (|
N X
TEAITTMENGAES Y 4
VA -




S A =\

- w=Cosx = \
Aun==snX ey =\ Din Leosx| i% ! : S—
—du = sin .- o
ot " r__JJ.(&L o
L 1 e Ax :Jé() ....__-—‘ du =L 2%
3 X A 5
UD ﬁ*{ A \|’_ | 3
% = 1 1 . B
o U\=X+€x \A=D'-'—'7u:?ﬂ”ﬂ¢=’,‘l‘ e
A = 5&3 A¥ }(ﬁ-O.,‘l':?u:?ﬁ-ewz

1 duze X

| = grefn’ = Ib |




W b A= [ s Dalnlac
_ ..5..e.__; - _ o -+ d ELEJM\

- =\ Hﬂnﬂ:{c_;
TEHES % B o B
du‘: ‘/ O\X t — = =

X

. \ir::c,x

_— — VA | ()] ‘
0 > IR/ . .
\\7
. Fz
@) = 10| (radins) “dx
a fr;?@") T =T | Taxe T (rf")lz
o i = cat ' TS 10 N |, I S P9 =
i R )
4 j".| —— )
= e -2 =l |ef ] :_-rl_{ﬂtf,q
L 7z _;J 2 2 lév |\ 2




( raalub\j]z (mww FMM:’);AX

(
JD :

il

.....I

(x+ﬂ

'}(14,2;?'

- TL_j__.e,Z

i

X—l' Zcit/l”/ =3 Z 2% ;1/ A e

0

2 3

4]

i ) - 3 2l

1 —

-

etrze -l =l -2

1z o
— 1
:T\" _:f:__ +2@,-—-?.3
[ la N




